:

(SUPPLY)

HANDLE

MANUAL LOCKABLE
450 / DAMPER W/
a

AIRFLOW DIRECTION

|

i +

D

!

T

IRFLOW DIRECTION (RETURN / EXHAUSTL

%

\{ 1/4 x D (4" MINIMUM)

ROUND BRANCH DUCT CONNECTION 2 RECTANGULAR BRANCH DUCT CONNECTION 3

@ NOT TO SCALE

AUTOMATIC AIR VENT\
3/4"

NOTE:

FLEXIBLE DUCT CONNECTIONS SHALL BE INSTALLED TO ADC STANDARDS AND

SEALED TO UL STANDARDS PER AMC 603 AND 604.2.1. AS A MINIMUM, THE

CONTRACTOR SHALL SECURE THE FLEXIBLE DUCT TO ENDS OF METAL DUCT WITH

BALANCING DAMPER PROVIDE

/(\)/ DRAWBANDS, AND WRAP 3" WIDE ALUMINUM TAPE EQUAL TO HARDCAST "FOIL GRIP"
) AROUND DRAWBAND AND EXPOSED END OF FLEXIBLE DUCT INSULATION.
>
&
]
2
| =z
- 8 DRAWBAND ROUND DUCT
2 Q FLEXIBLE DUCT ( MAX. DUCT STRAP SUPPORT
T o LENGTH - 3-0") WRAP AROUND DUCT EXTENSION FOR HANDLE TO
0 g MAN[%JAA,\';F',‘SF%VA)BLE [ AND SECURE TO CLEAR INSULATION
= DUAL STRAP SUPPORTS 0 STRUCTURE
z 3 5 HANDLE SECURE 10 STRUCTURE STREAMLINE TAP
]
55 Y1 |
o < \C v v
> Y > w
S > ! SHEET METAL ELBOW
O \
L |
w \\\ ) INSULATE TOP
a 1/4x W (4" MINIMUM) AND SIDES OF ¥ DUCT WRAP W/
% GRILLE » —- VAPOR BARRIER
|
s B ROUND NECK DIFFUSER SECURE EDGE OF INSULATION CEILING /

%

NOT TO SCALE

AUTOMATIC AIR VENT
3/4"

INSTALL WELDOLET
0TO 100 FT. / FOR SENSOR AT TOP
PRESSURE OF PIPE

GAUGE |4

S

IU T 1
\ 1/4"

1/4" ——=—

SUPPLY MAIN + E

L L

———— O+

RETURN MAIN

\ DIFFERENTIAL PRESSURE (DP) TRANSMITTER AND

CALIBRATION GAUGE. SECURE TO NEAREST AVAILABLE

STRUCTURE. MOUNT AT ACCESSIBLE LOCATION AND
ELEVATION.

5 DIFFERENTIAL PRESSURE TRANSMITTER DETAIL

PIPE INSULATION

STAINLESS STEEL
BANDS OR \
CLAMPS

NS
Q?\

INSTALL INSULATION SHIELD AND 4/

INSERT FOR ALL PIPING (8" MINIMUM)

1" MAX.

1-5/8"x1-5/8"
CHANNEL OR

2"x2"x1/4" ANGLE

1/2" DIAMETER ALL THREADED
ROD WITH 36 MAXIMUM SPACING
ON EACH CHANNEL / UNISTRUT

@TRAPEZE PIPE HANGER DETAIL

NOT TO SCALE

GRILLE GRID WITH ALUMINUM
TAPE

DIFFUSER CONNECTION TO ROUND DUCT

CHECK VALVE

SARCO 13 WS ARMSTRONG
NO 1-AV WHEATLEY AR 0075

3/4" BALL VALVE

1/4" BALL VALVE LOCATE
IN ACCESSIBLE
POSITION

TO FLOOR DRAIN /

PLAN SYMBOL \
AUTOMATIC AIR VENT TO FLOOR DRAIN

MANUAL OR HAND

NOT TO SCALE

1/4" NPS

PLAN SYMBOL

OPERATED AIR VENT

PIPE ELBOW

!

FIELD
VERIFY
HEIGHT

!

\1" SCH. 40 STEEL PIPE

WELDED TO ELBOW
/ 2" DIA. HEAVY WASHER
3/4" NUT
M 3/4" LOCK WASHER
— \3/4" JAMB NUT

— 3/4" THREADED ROD,
— WELDED TO 3/8" PLATE

FLOOR — T
\[ = /4 x4"x3/8" PLATE

|

NOT TO SCALE

@@Tlgsclﬂ_lMlNATOR DETAIL 7 PIPE STAND SUPPORT

/ MANUAL AIR VENT

AUTOMATIC CONTROL VALVE A
H

MANUAL AIR VENT \

AUTOMATIC CONTROL VALVE

— HEATING WATER RETURN——OH——5+| ==

CONCENTRIC REDUCER /

| g——++—SCHILLED WATER RETURN —

\ CONCENTRIC REDUCER

ECCENTRIC REDUCER
HEATING COIL AND

COOLING COIL

ECCENTRIC REDUCER
UNION

P&TPLUG\

HEATING WATER SUPPLY ‘ O
GATE OR BALL VALVE / ’

STRAINER W/ HOSE ADAPTER
GATE OR BALL VALVE

CHILLED WATER SUPPLY

[P&TPLUG

N\

|

STRAINER W/ HOSE ADAPTER I
UNION
DRAIN VALVE

\ PRIMARY DRAIN PAN

DRAIN VALVE \
SECONDARY DRAIN PAN

3/4" HUMIDITY DRAIN, REFER TO DETAIL

DETAIL

10 FAN COIL UNIT PIPING

NOT TO SCALE

COUNTER FLASHING
N\AILER
GRANULAR BASE FLASHING

CONTINUOUS BEAD OF RTV SILICONE
CONTINUOUS 1" WIDTH MASTIC SEALER

\
3 PLY FIBERGLASS ROOF FELT
SEALED WITH STEEP ASPHALT

PREFABRICATED EQUIPMENT CURB

‘ ‘ ‘ ‘ ‘ ‘ BIRD SCREEN
L CURB CAP
' /ATTACH TO FAN CURB
H ‘ [ | Y - ‘ ‘“t/,,//”//////////kggg
+1) b t/ INSULATED ROOF CURB
]
ROOF BT SEE ARCHITECTURAL PLANS
T\ A FOR FLASHING DETAILS

P
)
. a4

<A

POWER CONDUIT

EXHAUST DUCT
TRANSITION TO MEET
OPENING SIZE

7 4
J[ MOTORIZED SHUTTER

Architects, PLC

el TME|

Engineering

4 ROOFTOP DOWNBLAST EXHAUST FAN DETAIL

NOT TO SCALE

——— ALL THREADED ROD - SEE SPECIFICATION FOR SIZE

JAMB NUT

-

NUT

D

ANVIL FIGURE

ADJUSTABLE CLEVIS HANGER
o JUS C S G

|Hpo

| _—— VAPOR BARRIER
|__—— PIPE INSULATION

- PIPING INCLUDING HEATING HOT
WATER, CHILLED WATER, DOMESTIC
WATER, REFRIGERANT VAPOR, ETC.

18 GAUGE INSULATION SHIELD 16
GAUGE FOR 6" AND LARGER PIPE
SIZES

CELLULAR GLASS HIGH COMPRESSIVE
STRENGTH INSULATION UNDER
SADDLE

@1 - 12 CLEVIS PIPE HANGER DETAIL

INLET PIPE T

DIAMETER REFER TO
PLAN VIEW

BUTTERFLY VALVE W/ DIAL —=

INDICATOR AND
HANDWHEEL

1/4" TYPE K HARD DRAWN COPPER OR
SCH. 40 BLACK STEEL GAUGE PIPING

FLANGED FLEXIBLE CONNECTOR W/ TIE
RODS CONNECTOR SIZE EQUAL TO INLET

PIPE SIZE

FLANGED SUCTION DIFFUSER W/ BUILT-IN————
STRAINER DIFFUSER INLET EQUAL TO PIPE SIZE
DIFFUSER OUTLET EQUAL TO PUMP INLET

ROUTE 3/4" DRAIN LINE TO FLOOR DRAIN:

1" PIPE STAND
FLOOR FLANGE

Q
L)

. PRESSURE
20 -l
P& TPLUG—— % @M /J

Vl{'l‘ ! / 1/4"

OUTLET PIPE DIAMETER
REFER TO PLAN VIEW

BUTTERFLY VALVE W/ DIAL
INDICATOR AND HANDWHEEL

FLANGED WAFER CHECK VALVE

FLANGED FLEXIBLE CONNECTOR W/ TIE

——— RODS CONNECTOR SIZE EQUAL TO
PIPE OUTLET
— =—P & T PLUG

——1"PIPE STAND

FLOOR FLANGE
T

FLANGED CONCENTRIC INCREASER
PUMP OUTLET DIAMETER BY PIPE
SIZE

@VERTICAL INLINE PUMP PIPING DETAIL

NOT TO SCALE

D
—
—
_
/
-
7777 /
M % _ M
" crepwater — | / 7 ;/ ; \__
CONTROL VALVE SHALL 7 7 y i
BE LOCATED WITHIN g Z /z |
FAN COIL CABINET Z //5 |
ABOVE DRAIN PAN %¢ %4%;
4 (LL \
HEATING WATER m YZ/ 1 1 A |
<UL 4 1 n
CONTROL VALVE AND AT 3 Hws ' ‘
STRAINER SHALL BE +—3/4"CD
LOCATED WITHIN BiS I3 chs y
FURRED OUT AREA 1|, 34 cHr i
ABOVE DOOR 1] ]
»

AN

@TYPICAL DORM ROOM FAN COIL DETAIL

NOT TO SCALE

Lead Architect:
Stocks-Mann Architects, PLC
401 W. Capitol, Suite 401
Little Rock, AR 72201
501-370-9207

Associate Architect:
Woods Group Architects
2200 Main Street
Little Rock, AR 72206
501-372-2230

Structural Engineer:
Bernhard TME
1 Allied Drive, Suite 2600
Little Rock, AR 72202
501-666-6676

MEP/Fire Protection Engineer:
Bernhard TME
1 Allied Drive, Suite 2600
Little Rock, AR 72202
501-666-6776

seal/signature

(I7]
qeotidd U7
\\\““ 7

7
’,
AUr,
()
\ allideg “,
ot e, v
> e, “

®;§ % e Z,
< Bernhard "Et%
O TME, LLC §6§

MUTITITITAA

No. Description Date

UCA Housing
Renovations - Phase 2
State Hall

University of Central Arkansas
Conway, Arkansas

SMA Project Number 1807
Date 05-10-2019
Phase Construction Drawings

UCA Project Number UCA-19-021

Contents

DETAILS - HVAC

Sheet Number

5/9/2019 1:37:26 PM



	Mechanical
	M5-1


